Equations

Circle the correct number sentence.

Circle the correct

addition sentence.
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542=17

3+3=6

Circle the correct number sentence.
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6+2=8 |5-1=
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Equations

Circle the correct number sentence.
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Circle the correct addition sentence.
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542=7 3.72=1

(6
7 G

N

+

S
I

(@)Y

éﬁ‘ < ’«e‘

S
2
7$‘§

(6
B

Circle the correct subtraction sentence.
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3+43=6 3-3=0

Circle the correct number sentence.
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For the final section, make sure that children understand that
animals approaching each other represent addition and animals
moving away from each other represent subtraction.
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